
Substitution:
Isolate
Substitute 
Solve 
Substitute
Solve
Intersection

𝑦 = (𝑥 + 1) (𝑦) = 2𝑥 − 2

(𝑥 + 1) = 2𝑥 − 2
            1 = 𝑥 − 2
            𝑥 = 3

𝑦 = 𝑥 + 1
𝑦 = 3 + 1
𝑦 = 4

(3,4)

Substitution

Elimination

𝑦 = 𝑥 + 1 𝑦 = 2𝑥 − 2

 𝑦 = 2𝑥 − 2
(𝑦 = 𝑥 + 1)
 0 = 𝑥 − 3
 𝑥 = 3

(−2) − (+1) = −3𝑦 = 𝑥 + 1
𝑦 = 3 + 1
𝑦 = 4

(3,4)

Graphing

(3,4)

(𝑦) = 2𝑥 − 2

   𝑦 = 𝑥 + 1
(4) = (3) + 1
    4 = 4

    𝑦 = 2𝑥 − 2
(4) = 2(3) − 2
    4 = 6 − 2
    4 = 4

Check Your Answer

𝑥 = 3
𝑦 = 4

One Solution

No Solution
# ≠ #

Infinite
# = #

(𝑥, 𝑦)

On the Line On the Line

On both Lines. Must be Intersection

If not on both lines then Not Intersection

𝑎 = 𝑏         𝑏 = 𝑐

      𝒙       𝒚

      3       4

      𝒙       𝒚

      3       4

𝑆𝑎𝑚𝑒 𝑆𝑙𝑜𝑝𝑒𝑠
𝑆𝑎𝑚𝑒 𝑦 − 𝑖𝑛𝑡ᇱ𝑠
(𝑆𝑎𝑚𝑒 𝐿𝑖𝑛𝑒)

𝑆𝑎𝑚𝑒 𝑆𝑙𝑜𝑝𝑒𝑠
𝐷𝑖𝑓𝑓𝑒𝑟𝑒𝑛𝑡
𝑦 − 𝑖𝑛𝑡′𝑠

Elimination:
Get rid of the fractions
Multiply (LCD)
Line up the terms
Add or subtract
Solve
Substitute
Solve
Intersection

1 2

(𝑥, 𝑦)

Transitive Property

𝑎 = 𝑐

1 2

Brackets around Bottom
2 − 1

(𝑥, 𝑦)
(3,4)

1 2

𝑦 = 𝑚𝑥 + 𝑏

𝐴𝑥 + 𝐵𝑦 = 𝐶

𝐵𝑢𝑟𝑔𝑒𝑟𝑠 $3/𝑒𝑎𝑐ℎ
𝐹𝑟𝑖𝑒𝑠 $2/𝑒𝑎𝑐ℎ
$12 𝑡𝑜 𝑠𝑝𝑒𝑛𝑑 

𝑙𝑒𝑡 𝑏 = 𝑏𝑢𝑟𝑔𝑒𝑟𝑠
𝑙𝑒𝑡 𝑓 = 𝑓𝑟𝑖𝑒𝑠

3𝑏 + 2𝑓 = 12

3𝑏 + 2𝑓 = 12
           2𝑓 = −3𝑏 + 12

             𝑓 = −
3

2
⎯⎯𝑏 + 6

$50/ℎ𝑟
$1000 𝑅𝑒𝑛𝑡

𝑙𝑒𝑡 ℎ = #ℎ𝑜𝑢𝑟𝑠
𝑙𝑒𝑡 𝑚 = 𝑚𝑜𝑛𝑒𝑦

𝑚 = 50ℎ − 1000

Word Problems

Slope intercept 
form is for one 
multiplication 
and an addition.
Negatives!

General form is for 
two multiplications.

𝑦 − 𝑦 = 0

The goal is zero!
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